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The Domi8a8t Se?e8th @hord .BC3 

"he dominant seventh chord is e0actly like the dominant triad, e0cept that it contains an e0tra note that is 
dissonant.  It therefore behaves almost e0actly the dominant triad.  :or instance, we e0pect it to resolve to a tonic 
chord — not to a pre=dominant.  However, ?7As inherent dissonance makes it is much less suitable for use in a half 
cadence, because the dissonance undermines our sense of temporary rest.  Cn the other hand, it is especially 
useful at strong authentic cadences, because resolving the dissonance contributes to our sense of forward motion.   

"he dominant seventh chord contains two tendency tones that need to resolve:  the leading=tone ( 7G ), which wants 
to resolve up by step, and the seventh ( 4G ), which wants to resolve down by step.  (Je very careful not to confuse 7G 
with the seventh, because they lead in opposite directionsK)  "he e0amples below illustrate a variety of good and 
bad resolutions of ?7. 

 a.  good b.  good c.  good d.  badK e.  badK f.  not good g.  good h.  bad 
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a. Joth tendency tones resolve, producing an incomplete tonic chord.  "his is Luite acceptable. 
b. "he alto employs a Mleading=tone drop,N thereby creating a complete tonic chord.  "his is acceptable as 

long as the leading=tone is in an inner voice. 
c. When we begin with an incomplete ?7 chord (fifth omitted, root doubled  — okay if the chord is in root 

position), both tendency tones are able to resolve and the tonic will be complete. 
d. Pnresolved leading=tone in the soprano is unacceptable. 
e. Pnresolved seventh in the tenor is unacceptable. 
f. "he tendency tones resolve properly, but the third of the I chord is doubled (not often desirable).  If we want 

to retain the same soprano line, we should use ? rather than ?7 (the tenor would sing a Q for both chords). 
g. Rood deceptive cadence.  Sotice that using ?7 rather than ? makes the voice=leading entirely stepwise. 
h. CbTectionable direct octave between outer voices.  Although the soprano moves by step, the resolving 

dissonance makes the octave stand out more than it normally would.  "his is even problematic if the 
seventh appears in an inner voice.  Sotice also that the progression ?7 V I6 is guaranteed to double the 
tonicAs third.  "his progression should be avoided. 

All inversions of the dominant seventh chord are e0tremely common and may be used freely, although of course 
only the root=position ?7 is appropriate at strong cadential points.  "he seventh is often approached by step or 
common tone, especially when using root=position ?7.   Ppward leaps are possible when approaching the seventh 
of inverted ?7 chords, but downward leaps are rare.  Inverted ?7 chords tend to appear between tonic chordsX they 
may also be approached through pre=dominant chords, but this is less common.   Yome typical e0amples appear 
below.  Sotice that the tendency tones consistently resolve:  7G-Z

G  and  4G-[
G. 

 i. T. !Sot parallel fifths — \5=d5K 
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!adentia( *
+ ch./d0 .ften /e0.(2e t. a d.3inant 0e2enth ch./d /athe/ than a d.3inant t/iad4  5.tice the fa3i(ia/ 

0tep7i0e de0cent .f the 8ppe/ 2.ice04   9:a3p(e0 k and l a/e e:t/e3e(y typica(4  9:a3p(e m 0h.70 h.7 0.3eti3e0 
the 0i:th a<.2e the <a00 3ay 0tep 8p t. the 0e2enth /athe/ than d.7n t. the fifth4  =hi0 i0 accepta<(e <eca80e the 
0i:th i0 a c.n0.nant inte/2a(4  >?any pe.p(e d. n.t /ef(ect thi0 detai( in thei/ fi@8/e04A  9:a3p(e n de3.n0t/ate0 h.7 
a cadentia( *

+ can /e0.(2e t. a BC
* ch./d in0tead .f a /..tDp.0iti.n ch./d4  >5at8/a((yE thi0 7.8(d .n(y .cc8/ in the 

3idd(e .f a ph/a0e4A 
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92en in the a<0ence .f a cadentia( *
+E it i0 p.00i<(e f./ .ne f./3 .f the d.3inant t. f.((.7 an.the/E a0 (.n@ a0 the 

0ec.nd d.3inant d.e0 n.t fa(( .n a 3et/ica((y 0t/.n@e/ <eat4  Geep in 3ind that p/.@/e00i.n0 808a((y 0.8nd <ette/ 
7hen they c/eate a 0en0e .f inc/ea0in@ 3.3ent83E 0te33in@ eithe/ f/.3 a @/ad8a( 0t/en@thenin@ .f ch./d0 ./ f/.3 
the 80e .f tendency t.ne0 >e0pecia((y in the .8te/ 2.ice0A4  H.3e typica( e:a3p(e0 appea/ <e(.74  5.te:  BDBJ i0 
@..dE <8t BJDB i0 n.t4 
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Important e+ceptions:  =7. 80ef8( 3e(.dic patte/n0 y.8 0h.8(d Fn.7 appea/ <e(.74  L(th.8@h BC
* ch./d0 808a((y 

/e0.(2e 03..th(yE e:a3p(e s 0h.70 a c.33.n e:cepti.n4  =he d/a3atic (eap in the 0.p/an. can 3aFe an 
.the/7i0e d8(( 3e(.dy 38ch 3./e inte/e0tin@E and it can a(0. 0a2e y.8 f/.3 /an@e p/.<(e30 if y.8/ 3e(.dy @et0 t.. 
(.74  9:a3p(e t de3.n0t/ate0 the .n(y e:cepti.n t. the /8(e that 0e2enth0 380t /e0.(2e d.7n <y 0tep4  Meca80e the 
0e2enth i0 c.n0.nant 7ith the <a00E it i0 a<(e t. 3.2e in pa/a((e( tenth0 >./ .cca0i.na((y in pa/a((e( thi/d0A 7ith the 
<a00 a0 BN

* /e0.(2e0 t. I+4 
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Pe(pf8( hint:  7ith the e:cepti.n .f the patte/n0 a<.2eE if y.8/ 0.p/an. (ine /i0e0E it i0 808a((y ea0ie/ t. 80e a B t/iad 
/athe/ than a BJ ch./d4  !h..0e y.8/ c.3<inati.n .f ha/3.ny and 3e(.dy 7i0e(yQ 


